| Efficiency vs Dxy |
>0.05
X

5 S
N0 e N 1 S S S S
< | T T
D 0,04+
Q A
K D] e N S 1 IR S SR S A
008 Lo

eff

0025+
7 e e Jq ------- ot
TN R N TS NS VS SO N

X0 e e o
0005F b

1.

Ratio

=
!

09 56-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT__ORIGINAL

| Efficiency vs Dz |

—— DQM_TT__MODIFIED_layerProcv2_PRVersion

N 0.05
= H H H H H
9.045F - Feeeeeeeees Peeeeeeeee Beeeeeeeen frreeeeseen e
> . . . . .

R T
O r : : : . .
$9.035 Froenreree frorrentenes frorereees H I
o - 5 5 5 5 5
0.03fF oo R e e

ot
.
Y CHTc R S O O e
0.0 o --'f*- | —
0.005f-+borbin L

30 20 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


